x= | Multi-Step Name:

|£J
Choose the best answer

Emma has 3 red beads, and he has 2 fewer
yellow beads than red beads. Emma also has
9 more green beads than red beads. How
many beads does Emma have in all?

14 13

11 16

|£J
Choose the best answer

Benjamin needs 19 paper plates for a
birthday party. He already has 9 blue
plates and 2 red plates. How many
more plates should Benjamin buy?

11 9

B

Alexa had 11 stickers. She then bought 5
stickers from a store in the mall and got 8
stickers for her birthday. Then Alexa gave 4
of the stickers to her sister and used 8 to
decorate a greeting card. How many
stickers does Alexa have left?

stickers
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M

Mia had $28. Then she saved $4
from her allowance and spent $9
on a comic book and $3 on a
puzzle. How much money does
Mia have left?

|fJ
Julia's mom gave her $41 to go
shopping. She bought a sweater
for $9, a T-shirt for $6, and a pair
of shoes for $7. How much money
does Julia have left?

@
Choose the best answer

Noah had 14 stickers. He then bought 2 stickers from
a store in the mall and got 5 stickers for his birthday.
Then Noah gave 5 of the stickers to his sister and
used 7 to decorate a greeting card. How many
stickers does Noah have left?
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Jack's mom gave him $27 to go
shopping. he bought a sweater for
$4, a T-shirt for $1, and a pair of
shoes for $7. How much money
does Jack have left?

|ﬁJ
Aiden had $20. Then he saved $6
from his allowance and spent $3
on a comic book and $9 on a

puzzle. How much money does
Aiden have left?

|ﬁJ
Choose the best answer

Hannah wants to buy a dictionary that costs $1, a
dinosaur book that costs $5, and a children's
cookbook that costs $2. She has saved $4 from his
allowance. How much more money does Hannah
need to buy all three books?
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Emily wants to buy a dictionary that costs
$8, a dinosaur book that costs $9, and a
children's cookbook that costs $4. She has
saved $6 from his allowance. How much
more money does Emily need to buy all
three books?

#11

Choose the best answer

Ethan has 5 red beads, and he has 2 fewer
yellow beads than red beads. Ethan also has
5 more green beads than red beads. How
many beads does Ethan have in all?

21 18

22 13

#12

Darren has 6 red beads, and he has 5
fewer yellow beads than red beads.
Darren also has 6 more green beads
than red beads. How many beads
does Darren havein all?

beads
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X=? | Multi-Step Answer Key
uestion nswer
Questi A
#1 16
#2 8
#3 12
#4 20
#5 19
#6 9
#7 15
#8 14
#9 4
#10 15
#11 18
#12 19
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